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7. (&) (1)K it D AE DG LAB SN G. »
W, DU DGBE 246, - DG = BF = 12 em,
H
BG E :
BG=DF =16 cm. £ Rt ADGB W, tan £ BDG = — = DN
DG AR




16_4

12 3°

. /. BDG=53°. -+ s PDH= / BDG,.. N§} 0 o WIFERZ R 53°.
(2)BG=16 cm,BC=7 cm,.. CG=BG-BC=9 cm.
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8. [#R) (1) Wi . 1 £ EG LAC T4 G. - AB= 24cmBE—%AB

. BE=8 cm,AE=16 cm. 7£ RUAAEG 1 ,AE=16 cm, / AEG=10°, ... CD=
EG=cos 10° - AE~0.98x16~15.7(cm).
RS KT SEEE A KR CD K JEZ) 157 em.
()UK, BYEBH LDE BP 1| FC, %25 A
W% H,P, W GE//HB,.. / EBH= / a=10°. T ~
£ RUABEH 1 ,BE=8 cm, 2 EBH=10°, '
- HE=sin 10° - EB~1.36 em,BH=cos 10° - \——f L 4%
EB~7.84 em, .. BP=HD=DE-HE=27.36-1.36=26(cm).
+ L ABF=145°, . / PBF=145°-90°-10°=45°, -, BP=PF=26 cm.
- MN L CF, .. MN//BP, . / NMF= / PBF=45° - MN=8 c¢m, .. MN =
NF=8 cm,
<. DN=DP+PF-NF=7. 84+26-8 ~25. 8(c¢m).
B 2B DN WK EEZ) R 25. 8 cm.
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SZtLl=LCH,RE"BWADAIBENR D= AEAM" TIEH
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AD, .. VUi ABPD VA7 M. X AB=AD, .. i1} ABPD
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B'=3.2.
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PO
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13. [BR] WAL, 145 O fE 0Q LMN T-45 Q545 0 /F OP L ME T35 P, HZZ
AC T4 H.
-+ 00 LMN,0P 1 ME | H./ NUD=90°,
PUiJE QMPO SR, .. £ QOP=90°.
-+ NO LAB, . / NOA=90°,.. / NOQ= / AOH.
oo/ NQO= £ AHO=90°, ... ANQO~ AAHO,

(N0 _AH -
--QO_OH. .

AB=24C=2,.. AC=1,.. BC=./3.

3
50 g AB Byt BY50 DP=AH=0. 5,0H={.
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2.,/3. X QM:OP:fH).s . MN=NQ+QM = 2[+£+0 Zf +o
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M- BC=1.5,BD=10,DE=1.8, ,fiit 3 AB =50.
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